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Induced breeding technique is used in-
A)Fish breeding
C)Maize breeding
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Question No. 1

B)Bird breeding
D)Sheep breeding

# ORT 9ol daheiler T 39T fRar Srar 21

A)ATCN Istelsl
C)AFRT Ualadod
Answer Key : A

Pisciculture is rearing and production of-
A)Fishes
C)Birds

HET UTelel FT 9relel 3R 3cure gl
INEEIGE I
C)uferat

Answer Key : A

Entomology is the study of-
A)Birds
C)Microbes

Fc A Fasr 3regaa g2
A)aferat
C)qe# Hrerur3it

Answer Key : B

The pearl oyster belongs to phylum-
A)Annelida
C)Athropoda

At @ g o gefad gl
INGIEES
C)3trifarar

Answer Key : D

B)ualr gotetet
D)#E Usielel

Question No. 2

B)Wool yielding animals
D)Silk yielding worms

B)3 &t dTel SATelaxt
DR2H S dTel &I

Question No. 3

B)Insects
D)Parasitic worms

B)&rer

B)ErEicigcar:

Question No. 4

B)Echinodermata
D)Mollusca

B)UaTsAISHer
D)ATeIERT

Question No. 5

The study of structure, function, molecular organization, growth, reproduction and genetics of the cell_i_s
op

called-
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A)Acarology B)Biotechnology
C)Cytology D)Zymology

FIAFT T AT, FR, 0TS ST, gig, oielel 3R MR & eI I FAT FHgl AT 8?2
A)TFHATSTT B)Stavicafaehr

C)ifrerr faamer D) EIEEICIEI

Answer Key : C

Question No. 6
Which of the following is called the powerhouse of cells?
A)Nucleus B)Mitochondria
C)Lysosomes D)Ribosomes

Arafaf@a F @ FA FRAFET F7 9ra@3y Far SArar 82

INGHEED B)ATSC i fesaT
C)arsarars D) EC e

Answer Key : B

Question No. 7
Among the given stages of mitosis, which is the last phase?
A)Prophase B)Metaphase
C)Anaphase D)Telophase

AsAfAT & U v @ron & A, 3ifaw =xor Fia ar &2
NGl B)AeTthel
C)TaTthat D)<olthat

Answer Key : D

Question No. 8

Drosophila has pairs of chromosomes and linkage groups.
A)23, 23 B)11, 11

C)14, 14 D)4, 4

gaifher A oAt & SIS AR Ak d@eg 81 gl

A)23, 23 B)11, 11

C)14, 14 D)4, 4

Answer Key : D

Question No. 9
During which stage of mitosis do the chromosomes line up in the center?
A)Cytokinesis B)Telophase
C)Prophase D)Metaphase

A & e W01 & R U &g & dlFdag g o 82
A)TTEAFEATEH B)Zeithet
C)sirat D)#erthet

Answer Key : D
Top
Question No. 10
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Find the cell organelle that falls under cytomembranes.
A)Ribosomes B)Centrioles

C)Lysosomes D)Endoplasmic reticulum

AECAFHA & AT 3T aTel Tl iefAer Far g2
ATsSraEa B)TcI3ed
C)arsaraa D)usicerntsas Yo

Answer Key : D

Question No. 11
Certain parasitic protozoa being found to parasitize other protozoan or metazoan parasites is known as-
A)Hypoparasitism B)Hyperparasitism

C)Mutualism D)Parasitism

FT Sl NSN3 # 3T NN AT ATAIA WAl H oy st & faw qw amar & fras
T FH AT FATAT 272

A)grsarifafesa B)gsRiIfafesH
C)I=aI=ar4gdre D)g3shfaar

Answer Key : B

Question No. 12
The type of canal system present in leucosolenia water enters through the ostia and goes out
through the osculum.

A)Leucon B)Rhagon

C)Ascon D)Sycon

@A 7 #Hisg YR T AT JoTell HT 91l AT & AIH § wAA AT g AR
IEFeA & ATLIH F 9e el ST g

A) oI B){aTeT

C)uEehiat D)dTSHIet

Answer Key : C

Question No. 13
Spongin fibres secreted by mesenchyme cells are termed-
A)Spongioblasts B)Amoebocytes
C)Choanocytes D)Pinacocytes

AGFeA FRF garT F=1fad TdforeT et A Far FHgr Srar g2
A)TaTSaeaTEcH B)3re ST
C)FIT=arseH D) RS T

Answer Key : A

Question No. 14
Enterobiasis, commonly referred to as infection, is a cosmopolitan disease caused by
Enterobius vermicularis.
A)Pinworm B)Hookworm
C)Filarial worm D)Roundworm
Top
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tefefae, G mAdR w _ EHACT & T A @ o1dr g, tefauw adfgala & #Ror g
are T faegeardt et F

INEGEIG] B)geha#

C)wrsalars HfA D)aiter FHfA

Answer Key : A

Question No. 15
, an extract from leeches, is used as a blood anticoagulant.
A)Haematin B)Haemoglobin
C)Hirudin D)Heparin

, Siiep ¥ [Arelel el T 3% &, T9TaT 39T &d JFahrie & &7 7 Far Jrar g1
AjRafe B)@ra e
C)fgefeeT D)guiet

Answer Key : C

Question No. 16
The rag worm is also called the , Which is any of a group of mostly marine or shore worms of
the class Polychaeta.

A)Roundworm B)Ringworm

C)Earthworm D)Clam worm

1T gH A ft FgT ST §, S Aol a9 & SARR TWAT A1 AR & A3 @ fher weg v
glar 2l

A)alrel A B)are (Rerar#)

C)ahg3 D)eFeld are

Answer Key : D

Question No. 17

Lungfish, which are freshwater vertebrates, are also known as-

A)Myxini B)Dipnoi

C)Lamprey D)Chromis

SaIfher, ST H1S 9T $r HAvH 8, Pl & ¥ H §f AT AT B
A)ATIfFEsAT B)fEusits

Cyel#&r D)shifad

Answer Key : B

Question No. 18
is the natural colouring of an animal which enables it to blend in with its surroundings.
A)Molting B)Camouflage
C)Shedding of skin D)Metamorphosis

T SAaX HT Jihfdeh W1 g S §8 A9 aRAT & A1 god-Aea # qardA aorar gl
A)AifeeaT B)&=Iavor
C)cadr & &A1 D)AeH AT
Answer Key : B
Top
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Some types of insects develop through a process of incomplete metamorphosis, whereby a
hatches from their egg.

A)Nymph B)Preadapt

C)Larva D)Grubs

FO YPR & hI3 HYT SRR H Iihar & Aegd § Al gid &, Swd 3a% 33 @
fAeherdr g1

A faFm B)dusree

C)amat D)ared

Answer Key : A

Question No. 20
Which of the following is the type of metamorphosis with a total of four stages, namely, egg, larva, pupa
and adult?
A)Half metamorphosis B)Partial metamorphosis
C)Complete metamorphosis D)Incomplete metamorphosis

fAfaf@d & @ Sle-a1 FRITRT F1 ghR § FHH Fo IR W1 81 &, AT 373, o, T IR TAEH?
A) T SHTITROT B) 311 &ricor
C)qut shrIeRoT D)3TERT SHATALOT
Answer Key : C
Question No. 21
Most sea stars or starfish that have five arms radiating out from a central oral disk belong to the class-
A)Asteroidea B)Echinoida
C)Holothuroida D)Ophiuroidea

IR AN AR AT ARHAS [Tl dia ¢ U FAT 3R BFh & agd Asadt § ha aof @
it 22

DNESEIEE ! B)usTSHiigsT
C)greryigst D)3NfrRIs 3

Answer Key : A

Question No. 22
Grouping of activities under a particular product line or making departments on the basis of different
product lines is called-
A)Informal organisation B)Functional structure
C)Divisional structure D)Formal organisation

el a9 3cure oTsel & dgd AATARET &1 FHg ToEr A1 AT 3o TSt & YR 9 fameT Serer

_____ dgddr gl
A) AT Garae B)&TTcH® TXdaAT
C)famei Txa=T D)3itqaier TaresT

Answer Key : C

Question No. 23
The torpedo is commonly known as the-
A)Globe fish B)Seahorse Top
C)Sucker fish D)Electric ray
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TS S HI: F AH F AT ST 2l
A)aela fser B)@#ET ST
C)aax fher D)gafdea Y

Answer Key : D

Question No. 24
is/are also known as ectotherms because their body heat is derived exclusively from their
external environments.
A)Desert living B)Poikilotherms
C)Aquatic D)Homeotherms

F TFrAH & F7 A M T FArar & FiF 3ae T fr et [FOw T F 394 Tl ardraer
¥ yred grdr g1

ARXFEAT F g B)drs e
C)JTeirr D)gifAara

Answer Key : B

Question No. 25
What is the common name of the Calotes versicolor?
A)Tree lizard B)Monitor lizard
C)Garden lizard D)Wall lizard

FNET affFeR FT T AT FaT §?
A)Us gl B)Aifiex fuerelr
C)3car f3uerell D)SlaR f&aehelr

Answer Key : C

Question No. 26
occurs when the placenta grows at least halfway through the wall of the uterus and attaches
itself to the uterine muscle.
A)Placenta accreta B)Placenta percreta
C)Placenta increta D)None of the options

a9 glaT § S coder e At AR & ATLIH & FH @ HA YT Gl ¢ AR e H AHRE
& AT & A3 o g
A)TerieT Tshrer B)Teldiel qshel
C)Terier Seshier D)fashedl & & #ig TET

Answer Key : C

Question No. 27
The food chain beginning with the host and ending with a parasite is called the-
A)Detritus food chain B)Parasitic food chain
C)Grazing food chain D)Terrestrial food chain

WA @ JRES gl Teildl 9T FATCA glal arell IR AWl FAT Fgellcl 872
A)IRE T HTGell B)uRSlIdY @reg e
C)eMmerddt Wied H@elt D) Wied H@ell
Answer Key : B

Top
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Question No. 28
Which of the following is NOT a type of non-probability sampling?
A)Stratified sampling B)Snowball sampling
C)Convenience sampling D)Quota sampling

o & @ &l ar IR-anTegar gfaaaa &1 yeR A8 &2
A)Fadispa ferare B) &=l afcraast
C)gfaursieish yfcadet D)ahrer gfaadet

Answer Key : A

Question No. 29
The natural residence of every organism is known as the-
A)Biome B)Niche
C)Biodiversity D)Habitat

YA Sfa # UFfde Hara FAT Fgelrr §?
A)STaH B)31rerm (Niche)
C)da fafquar D)gface

Answer Key : D

Question No. 30
During the process of , water-soluble inorganic nutrients go down into the soil horizon and
get precipitated as unavailable salts.
A)Fragmentation B)Leaching
C)Catabolism D)Humification

& ihdT & eI, gl # golerelier 3rhrdfeieh Aiveh dea AT & &fas & & ool od § 3R
IIUeleY AUl & §9 # I g A
A)fa@sst B)fatatreret (effeien)
C)3U4Tds (heralfoles) D)eg#Tftheners

Answer Key : B

Question No. 31
The species whose population has been reduced to a critical level is known as-
A)lndeterminate B)Rare
C)Vulnerable D)Endangered

3 gonfaar e JaaEdr & 10K Fa¥ dF FA H QAT AT §, FAT FHgadld 872
A) TG B)geter

C)3rgrfard (Vulnerable) D)&ea¥d (Endangered)
Answer Key : D

Question No. 32
Photochemical smog in air pollution is related to the oxides of-
A)Sulphur B)Nitrogen
C)Oxygen D)Carbon

arg wqWor # yeHTer THAfAS g (PrerhRAwd TAl) Ry sifeass @ d&fa §? Top


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda247

A)HeHT B)ATSCISToT
C)3iTerdrstet D)arTeleT

Answer Key : B

Question No. 33
come under the second trophic level in the ecosystem.
A)Plants B)Phytoplankton
C)Herbivores D)Algae

aiRfeafadr a7 & gay 9t T & 3ideta 3d &
A)ater B)dlcy Toldeh
C)QMHIgRY D)dfarer
Answer Key : C
Question No. 34

What is the process of polymerisation of amino acids to form a polypeptide?

A)Translation B)Transmission
C)Transition D)Transcription
JTelUTerss el & fov 3l vf@s & aicieRseers & gfshar #ar 872
A)TATATAROT (Translation) B)@TRUT (Transmission)
C)&shauT (Transition) D)grefoherreT

Answer Key : A

Question No. 35
In Watson and Crick's model, the two strands of the DNA double helix are held together by bonds
between nitrogenous bases on opposite strands.

A)Calcium B)Nitrogen

C)Hydrogen D)Sulphur

qichsT N Fh F AT A, DNASSaT e Far s Mllda s W aAsSdsag sSg s g 3
garT US|y IAfea e e

A)Hiermas B)aATSgIatt

QREEES] D)dewT

Answer Key : C

Question No. 36
In the Law of Dominance, which characters appear in the F1 generation?
A)Gametes B)Dominant
C)Recessive D)AII of the options

wsca & fAFHA (Law of Dominance) &, F1 JeReueT # &la-& ffereror fe@rs 2 €2

A)geae (dehe) B)weIca dTell (SifAeic)
C)afaary D)faseur &7 & el

Answer Key : B

Question No. 37
are called the coding sequences of the DNA of genes.

A)Exons B)Axons Top
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C)Tendons D)Introns

@I SfieT & DNA &l IS 7efsha Hgl ST gl
A)TFHT (Exons) B)3rFdlT (Axons)
C)ésa (Tendons) D)3gIeT (Introns)

Answer Key : A

Question No. 38
Who proposed the Theory of Evolution in 1802, also known as transformism?
A)Darwin B)Gregor Mendel
C)Charles Lyell D)Lamarck

1802 & fApruae & RAgid #I Faa yrarfaa fFar, 58 aRadaare iy wgr Jmar 82
A)ETide B)ITR #Hsel
C)arey forwer D)ol#TR

Answer Key : D

Question No. 39

The distribution of marine life is also known as-

A)Holobiotic distribution B)Geobiotic distribution
C)Limnobiotic distribution D)Horizontal distribution
AT Sfaet & faawor &t F & & off Srar Jrar gl
A)grelteraifes faazor B)fSateraifes faavor
C)feeranfes aawor D)aifasr faavor

Answer Key : A

Question No. 40
According to Hardy-Weinberg equilibrium, the frequency of genotype - 'aa' is- (where the frequency of
allele 'A' in the population is p and the frequency of allele 'a' in the population is q)
A)p? B)q?
C)2pq Dp +q

gISI-aeTadl Holel & 3R, SHlCISy - 'aa’ &I 3Mgfcd AT §? (STEl STaEar H Tellel 'A' T 3gfcd p &
3R SerEEar # velier 'a' 1 3gfed q 8)
A)p? B)q?

C)2pq Dp + q
Answer Key : B

Question No. 41
What is the scientific name of contemporary modern humans?
A)Homo sapiens B)Homo erectus
C)Homo neanderthalensis D)Homo habilis

THKIA 3MYfAh AlAd I IR ATH F21 g2
AT aftaea B)gl#Al 3idcH
C)erar fausdaifaw D)g#r gfafora

To
Answer Key : A P
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Question No. 42
Which of the following statements is NOT correct about the phylogeny of elephants?
A)The scientific name of African elephants is B)Moeritherium lived during the Eocene epoch
Loxodonta
C)Phiomia lived during the Pleistocene epoch D)The Asiatic elephant is a living species of the genus

Elephas

fafad F & #ia a1 FuaT g1iAAT Fr wrEalsr & IR FH Tar oIl 87
A)3TRIAT §TTAAT &1 a1 A1 AFdsier gl B)AITRANTA, g leT Jo1 & aRreT @garr ol
C)th3ifaraT, cosEa @ a1 & aRre B | D)ufrs grelY, velithd aer & U Shifad genfa g1

Answer Key : C

Question No. 43
What is the first trade name for mifepristone, which is a synthetic steroid drug prescribed for inducing
abortion during the early weeks of pregnancy?

A)RU-486 B)Victoza

C)Metformin D)Glucophage

ABTENT #1 ggell AAIRS A7 A1 8, S U HEAA TIAIS Gar § i THiaedr & o3l gordl &
g1 msiura & IRa e & faw AuiRa & srdr 82

A)RU-486 B)fReretem

C)Rewmifa= D)3 efehithat

Answer Key : A )

Question No. 44
Which of the following enzymes catalyses the interconversion between glucose-1-phosphate (G-1-P)
and glucose-6-phosphate (G-6-P), which represents a branch point in carbohydrate metabolism?
A)lsomerase B)Phosphoglucomutase
C)Epimerase D)Glycogen phosphorylase

ffaf@a & & sla ar oA, TaEe-1-8Ehe (G-1-P) 3 Iq@-6-Biehe (G-6-P) & &I 3HcR-
FAIROT T SHRT FXaT ¢, S Heigrgse 9qqag # Toh n@n fog &1 gfafaftea sear 82

A)ITSRERE B)BIERITIHIACH

C)ufaaRs D)7TeTSohiold HIREBRISeST

Answer Key : B

Question No. 45
In plasma, what is the normal ratio of NaHCO3 and H,CO3?
A)15: 1 B)17 : 1
C)20:1 D)18:1

CllsAT #, NaHCO3; 3R H,CO3 & HHT 37e]dTd &7 gidl &7
A)15 : 1 B)17 : 1
C)20 : 1 D)18 : 1
Answer Key : C

Question No. 46
The concentrations of hydrogen and hydroxide ions are always in pure water. Top
A)More than hydrogen B)Equal
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C)Unequal
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D)None of the options

YL T H, TSNS IAT FISTFASS AT T Fogal gAM gIcir &1

A)gTsgiei & & fes

C)3rgA=
Answer Key : B

B) @I
D)fawedt & & 1S Y

Question No. 47

Human growth hormone (HGH) is a polypeptide composed of _ amino acids.
A)191 B)291

C)151 D)81

Aa e gefa (HGH) e dielidcerss g o 3efar vfds & o« §
A)191 B)291

C)151 D)81

Answer Key : A

Question No. 48

The is a hollow tube that connects your throat (pharynx) to the rest of your respiratory system.
A)Trachea B)Larynx
C)Glottis D)Epiglottis

T TGl Aol § ST 39 T (THeAT) T 39$ GHT oF & arehr fgear & asdr 2

A)RaraeTelr (¢foh3m) B)Taxdd (eliTd)
C)3ufatear (vaiifes) D)3ushs (vfiwaiicH)

Answer Key : B

Question No. 49
Myocardial infarction is also called-
A)Heart attack B)Stroke
C)Haemorrhage D)Hypertension

ARSI SHERIA & 7y A1 @ off ST Siar 82

A)gererd B)3mend
CXeraara D)3=a IFTam™T
Answer Key : A

Question No. 50
absorbs all colours except blue which it reflects, making a spider's blood appear blue.
A)Hemerythrin B)Haemoglobin
C)Hemocyanin D)None of the options

A T H BIgHT T @ A IFARA F AT &, @ Tg wrafda a=ar g, F@q 7w F1 GgoT
srerr fem$ ear g1
A)gFlfIe B)grAIenfa=T
CgArarafas D)fasedt # & &g gl

Answer Key : C
Top
Question No. 51


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda247

Night blindness is one of the clinical signs of deficiency.
A)Vitamin B2 B)Vitamin A
C)Vitamin K D)Vitamin C
Tafelr $r A & AcIfAs d&0T H F TH B

A)faeif@s B2 B)faerfaa A
C)faerf@aa K D)ferf@sT C

Answer Key : B

Question No. 52
Which hormone is produced by the stomach, which stimulates gastric motility and the release of gastric
acid?
A)Rennin B)Enterokinase
C)Digesting D)Gastrin

U¢ CaRT HidT-AT AT 3cUeet gl &, ot A¥geh arfaeflierar (motility) 3R A¥gw vhs &1 @AFa #
Icafad #ar &2

A)XfAT (Rennin) B)UeRifehetat

C)zrgaifeear D)3egret

Answer Key : D

Question No. 53

The largest of the salivary glands are-

A)Parotid glands B)Submandibular glands
C)Sublingual glands D)None of the options
ar IRt # g9 95 el

AYRIes Fifr B)asAfessor it
C)asfaiagarer dfdr D)fashedt & & g e

Answer Key : A

Question No. 54

When do greenhouse gases cause global warming?

A)When their concentration is increased B)When their concentration is decreased
C)When there are no greenhouse gases D)When greenhouse gases are released in a balanced
way

Meag3g A wa sollgd arfdeTr &1 FROT JA9dT §7?

A)STS 3T THEIAT 96 ST gl B)S& 3% UHEIT ¢ STl gl
C)sie dMeTer3d I o gl D)ste MeTer3d It &l AJfrd dlish & HeFa fohar Sirar
gl

Answer Key : A

Question No. 55
are organisms that feed on dead or decaying matter.
A)Primary consumers B)Secondary consumers
C)Decomposers D)Composers
Top


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda247

8 S § S Jd A1 gse arel gerd # @ g
A)Sraffe 3geferdr B)gfaciaess 3usiterdr
C)3rhurek D)&uTsiT

Answer Key : C

Question No. 56
The movement of nutrient elements through the various components (abiotic and biotic) of an
ecosystem is called the-
A)Carbon cycle B)Geochemical cycle
C)Biogeochemical cycle D)Chemical cycle

Ry aRfEafadr a7 & RAffes gear iasE 3R JIdF) F Atgw & d9ive dcal H Tod Fi
Fgd ¢l

A)FIET Th B)3-trEmafeieh wsh

C)dta -TrErIfeeh @sh DS Ish

Answer Key : C

Question No. 57
What does EESC stand for in the context of ozone depleting compounds?
A)Equivalent Effective Stratospheric Chlorine B)Equivalent Effective Stratospheric
Chlorofluorocarbons
C)Equivalent Energy Saving Compounds D)Energy Effective Stratospheric Compounds

3N &R I & Heet 3 EESC &1 qol &9 47 872
A)FTFadeie sthidea TeeEhRe FarleT B)sfeadeic sthidea FEEhRe FARIFARIAE=H
C)sfaadeic Teslt fdar FumssH D)ustsft sthidea FEhRa Furssd

Answer Key : A

Question No. 58
involves orientation at a constant angle to the direction of the source of stimulation.
A)Telotaxis B)Menotaxis
C)Phototaxis D)Thermotaxis

#H 3cdolelr & Aid #T fgar & e R o1 v ifAfa=ara enfaer gar g1
A)careiFaa B)AAIClFaa
C)wrerciFaa D)AfeTFaa

Answer Key : B

Question No. 59

The circadian rhythm is a cycle basedona ___ time period.
A)12-hour B)16-hour
C)24-hour D)10 to 12-hour
gFEaA Ttk g g St _ T gAY 3afy w amaia g1
A)12-8 B)16-8¢
C)24-g¢ D)10 & 12-8¢

Answer Key : C

Question No. 60 TOp
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is regulated not only by a circadian oscillator, but it also acts as a darkness signal, providing
feedback to the oscillator.
A)Melatonin B)Progesterone
C)Insulin D)Adrenaline

& o had UH Fehisdd 3iflcdeX garr AAfa far arar 8, afew I8 & 3usR dhds & §9
A ot & FXar g, N il 1 Hrsds yareT war gl
A)Feer e B)IorEeeT
Cosfm D)z

Answer Key : A

Question No. 61
Which method is sometimes referred to as instrumental conditioning and the method of learning that
uses rewards and punishment to modify behaviour?
A)Motivation B)Unconditioned stimulus
C)Unconditioned response D)Operant conditioning

fra AT &1 sf-wi Srgdca FAafAT IR Aaa i (BT F@r Jar § S cgaerR & gitT &9 &
fIT EHR 3R &3 #T 37T KA 87
A)#feaere B)3iTshi3eres eceerd
C)31Ash{3+s Il=q D)3iTIE sharerfeiar
Answer Key : D
Question No. 62
The a-cells of pancreas secrete-
A)lnsulin B)Glucagon
C)Trypsinogen D)Amylase

TATT HT o-HIASTT FAT FIfdT FIAT 82
Azgfaa B)TefehTaret
C)fefeusirster D)UATS

Answer Key : B

Question No. 63
Name the functional unit for the absorption of digested food.
A)Brunner's gland B)Peyer's patches
C)Crypts of Lieberkuhn D)Villi

T §U ST & AT & AT HricHS SHS F AH FATC
AR 3ifY B)dw 4
C)elsRpaT FaIfeehr D)faeelr

Answer Key : D

Question No. 64
The vermiform appendix is a part of the-
A)Stomach B)Pancreas
C)Intestine D)Liver
Top
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gHRIA rifsaa foraent smer 872
A)dc B) 3=y
C)3id D)ahel
Answer Key : C
Question No. 65
What are the components of human blood?
A)Plasma B)RBC and WBC

C)Platelets D)AIl of the options

ATAG (&Fd & geh Hid-O 872
A)TATSHT B)RBC 3ik WBC
C)Teicoicd D) dshedl & T Tl

Answer Key : D

Question No. 66
is an enzyme released by platelets which helps in coagulation of blood.
A)Hydrolases B)Oxidoreductases
C)Transferases D)Thrombokinase

TATACH GaRT BIST AT U USATSH g oIl I&d & IFh FTHAA H FAGG Ll ol
A)ETSgTerad B)3ifeaiRsweaw
C)eramas D) feheror

Answer Key : D

Question No. 67
is a type of sampling method in which the total population is divided into smaller groups to
complete the sampling process.
A)Stratified sampling B)Convenience sampling
C)Quota sampling D)Snowball sampling

_ Uh YHR A AHA Ui § S T ufhar # qu e & AU o Saaear & o qegt A
fsnfaa frar srar 2
A)ETIH T B)gfaem e
C)er AHAT D)EASTel AT
Answer Key : A
Question No. 68
is a statistical measure of the strength of the linear relationship between two variables.

A)Population mean B)Test of association
C)Correlation coefficient D)Regression coefficient

g W & 9T I@F Fay fr FFLT F1 v A@ifegdmg A9 gl
A)STEEIT ATE B)dTead dlrator
C)FERT ot D) 3o
Answer Key : C

Question No. 69
Top
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The statistical term that measures the accuracy with which a sample distribution represents a population
by using standard deviation is known as-

A)Standard error B)Random error

C)Systematic error D)Instrument error

gg Wi Asq Sl 30 FeSdT &I AGAT § G Y AHAT AROT At faaeled HT 3UAWT Hleh
FAHEIT Al JidATcd AT §, 38 FAT Fal AT g7
A)ATH T B)areRo+ Ife
C)wasg Ife D)3ueRor e
Answer Key : A
Question No. 70
What is the process of the transformation of spermatids into spermatozoa called?
A)Diakinesis B)Oogenesis
C)Spermiogenesis D)Both oogenesis and diakinesis

YEHTOL3T & A1) H GRATId gt T ihaT F41 FHgellel 872
A)STTHEA T B)31gTeleT
C)2[shTUTsTetet D)378TeTeT 3R SIEATAT alat

Answer Key : C

Question No. 71

In placental mammals or eutherians, is/are derived from the placenta.
A)Amnion and yolk B)Amnion

C)Yolk D)Allantois and chorion
Coldiee FaAUTRAT ar AR A, Colder @ ured glaT &/ &
A)ufETareT 3T Sl Syr=pic

C)stéf D)uaiersd 3R ARl

Answer Key : D

Question No. 72
Eggs containing a moderate amount of yolk belong to which type?
A)Microlecithal B)Mesolecithal
C)Alecithal D)Polylecithal

HEIH AMET # S1Ef arel 373 fFd g & gid 87
A) AT TS B)Aaa e
C)uvaifayer D)dtfereifaerer

Answer Key : B

Question No. 73

Which is also called incomplete cleavage and is usually observed in embryos with large amounts of

yolk?
A)Meroblastic cleavage B)Both Meroblastic cleavage and Holoblastic cleavage
C)Holoblastic cleavage D)None of the options

T 31 Rigerer 3 eT ST & 3R AT X g AT F i T oo w S 2 Top
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A)MeaniFes fagelet B)AlediEes fagerT 3T gidlsaniEes fagae gier
C)erdlisantees fage D)fawedt & & S 7T

Answer Key : A

Question No. 74
begins the first meiotic division, but then halts it until later in life when it completes this
division in a developing follicle.

A)Primary oocyte B)Secondary oocyte
C)Ocotid D)Ovum
qEell ITEEAAHSA Y& AT 8, oAbl T g8 Sliaed & Scadl T A &l & 99 Ig Th
ferafiar 9 7 30 Fomsrer & 9 #X o g
A)ITafRe 37ST0] (3HTST) B)efaciigeh 37s10] (F418¢)
C)sfes D)fSs (3ita#)

Answer Key : A

Question No. 75
Which hormone is secreted into the circulation by the corpus luteum in the ovary?
A)Relaxin B)Cortisol
C)Glucagon D)Vasopressin

3s1eT # HIIH gfead garT aREROT # Fia-ar grAfaT wifda gar 872
A)YeniFast B)ahIfcdrer
C)7efehraret D)aam &t

Answer Key : A

Question No. 76

The ___ is a device that employs a beam of electrons for the illumination of objects and image
formation.

A)Periscope B)Telescope

C)Microscope D)Kaleidoscope

__ U f3arsw g, S aEqg3i @ gdifta 3 ofd @#er & AT sAweEl i e fRoge &1 @dee
Fr B

A)aRERT B)<elEshd

C)ATSshIERT D) forsena

Answer Key : C

Question No. 77

In an electron microscope, is made for the smooth entry of electrons.
A)Vacuum B)Air space

C)Space filled with oxygen D)Liquid space

Teh golagid ATSHIEHIT H, Folaclal & Far& qaer & faw FATAT AT B
Aot B)aR] 3T (E3%)
C)3iTFiIoiad ¥ T 3Tt D)Re IR (foifeas To9)

Answer Key : A

Question No. 78 TOp


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda247

In the screen of the electron microscope, the final image is projected onto a viewing screen.
A)Light B)Fluorescent

C)Dark D)Green

SAeclsl ASHIEHIT T Thia & 3ifaw ofF = g FhIeT R vaRa fRar Smar

A)SehTer B) ¥R T

C)sr% D)gr

Answer Key : B

Question No. 79
consist of three lenses in an electron microscope.
A)Glass B)Hard glass

C)Smooth glass D)Electromagnetic lenses

A, T gdacld AGHIERT A T o g1 E

A)TeITH B)gTS Tomd
C)Rat TaIrd D)feegadeshar o e

Answer Key : D

Question No. 80
What is the expansion of FESEM?
A)Field Emission Scanning Electron Microscopy B)Flat Electron Scan Encrypted Microscopy
C)Field Endo Scan Electron Mirror D)Full Emission Scanning Echo Mirror

FESEM T qUT &9 &1 87

A)Fres TTRAA THIAIT Soldeisl ATShIThT B)Telc Soldclcd Thed Uleshtes HISshITHIUT
C)fres TSt Thel olacled AT D)ol TTARNST Thidar gl AT

Answer Key : A

Question No. 81
What is an isolated cell which is able to produce a fertile adult individual called?
A)Unipotent cell B)Stem cell
C)Totipotent cell D)Plasma cell

Teh U HIRNAT H FIT FHET AT §, S b Yolelolald qqEh ik daT Fll & HaTH §7?
A)gfadiee e B)¥EH Hifar
C)aifedrée ifarer D)CATSHT hITNRT

Answer Key : C

Question No. 82

The are the three lenses of an electron microscope.
A)Condenser, objective and projector B)Field, objective and ocular
C)lmage erecting prism, field and condenser D)Right-angled prism, eyepiece and projector

T el geAedt & i oF wia-ala @ g7

A)FSTR, AfATeTs 3R weius B)&, 3fieedsh iR 3irgerk
C)ofa faaTor Bea, &7 3R Hsaw D)ygHoT ea, 3medy 3 veius

To
Answer Key : A P
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Question No. 83
The cells derived from root apical and shoot-apical meristems and cambium differentiate and mature to
perform specific functions. This act leading to maturation is termed as-
A)Integration B)Specialization
C)Mutation D)Differentiation

¢ Ufsd 3 e-tida AREA IR FFegsd @ gicd HIREW (e #13F w0 & fav [{afea ik

gRaaa gidt &1 aRuaaar fir 30T 3rR 59 T & FgT AT gl
A)grarerst B)faferséreor
C)3caRada D) EECETI

Answer Key : D

Question No. 84
What are the two types of giant chromosomes?
A)Linear and circular B)Centromere and telomer
C)Linear and kinetochore D)Polytene and lampbrush

ar YR & faure g Hier d g2

AT 3R bR B)#aIfAR 3R el
CRf@® 3R FEacer D)ieiidreT 3R ofusrer

Answer Key : D

Question No. 85
are found in a specific subset of endopolyploid cells, which have undergone a variant cycle
known as the endocycle.

A)Sex chromosomes B)Polytene chromosomes
C)Autosomes D)Allosomes
GSiuleitelss HIRHBT & T fafkse 3uweg & uiv o &, S SRS & §9 J 6 JW
ae UF e T /TR &
A)fiaT o B)qleliélel Jorga
C)3iterars D)uaaE

Answer Key : B

Question No. 86

The most stable genetic material is-

A)RNA B)mMRNA
C)DNA D)ssRNA
Ty O 3TegaRie gard gl

A)RNA B)mRNA
C)DNA D)ssRNA

Answer Key : C

Question No. 87
The CORRECT expansion of DNA is-
A)Dilute nitric acid B)Deoxyribonucleic acid
C)Dinitrogen acid D)Deoxynucleic acid Top
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DNA &1 T ear «ar 87

A)STSege AsReed Ufas B) fS3ifedRsagiFas tfds
C)zTsAT3gIo TS D) ERUIERIE EC LIRS

Answer Key : B

Question No. 88
The CORRECT expansion of RNA is-
A)Ribonucleic acid B)Reoxynucleic acid
C)Ribonitric acid D)Riboxynucleic acid

RNA &1 @@l faear «ar 87

AT fFes TS B)d3irdigfaes uias
C)T=salasies tfds DRrssiagfFoe TS

Answer Key : A

Question No. 89

Which of the following is formed in DNA, when two polynucleotide chains coil around each other?

A)Circular B)Spiral

C)Concentric D)Double helix

SI9 a1 Uil gfFerdIcrss STl Ush-g@Y & °RI 3N gA &, af DNA & fe=ifaf@d & @ &4 aeran 872
A)gedThR B)@ider

C)&erigen D)efa-FsellehR (sel gferera)

Answer Key : D

Question No. 90
The base pair formed with the help of two hydrogen bonds in RNA are by two components, namely-
A)Adenine and uracil B)Adenine and cytosine
C)Thymine and guanine D)Cytosine and guanine

RNA & 2 grsgioiel el 1 WgrIal @ Selel aTell &g J9H (base pair) el & Teshl G@rT Foiar g2

A)TSHTSH 3R LRl B)usAea 3R A
C)ursfReT 3R Ip3iiatet Dyarseif@e 3R ap3nfae

Answer Key : A

Question No. 91

RNA is most often , as opposed to DNA.
A)Triple-stranded B)Penta-stranded
C)Single-stranded D)Double-stranded

DNA & faufid, RNA 38T 8 giar g2
A)RTe-E3s B)User-&¢s38
C)Trar-w3s D)3ed-¥iss

Answer Key : C

Question No. 92
Which of the following is present in the two polynucleotide chains of DNA?
A)Parallel polarity B)Anti-parallel polarity

C)Neutral polarity D)Standard polarity Top
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AEIfAf@d # @ &l DNA &1 & didiegfForalerss Ja@dsi # Alsg 872
A)FHATAITR gdraer B)9fd-GATATR ¢elidr
C)3ereil gdrarar DA YT

Answer Key : B

Question No. 93
Which sugar forms part of the backbone of the RNA molecule?
A)Ribose B)Deoxyribose
C)Glucose D)Sucrose

FiT-dr T RNA 3707 & i &1 feear sarct 872
INREEI SRR INESIE]
C)7egist D)gshiat

Answer Key : A

Question No. 94
is NOT among the nitrogen base components in RNA.
A)Uracil B)Guanine
C)Cytosine D)Thymine

fafad & & Fia-ar RNA & ASclio 99 gcal & & =gl 872

A)giT&e B)3iietet
Cyarseifaed D)2rsfaeT

Answer Key : D

Question No. 95

In a prokaryotic cell, where is the DNA organised in large loops held by proteins?

A)Nucleus B)Cell wall

C)Nucleoid D)Mitochondria

WHRARH HIRAFT A, DNA N q@rr Ao a3 oul d Hgl Fafeyd giar 872
A)egfFeraa B)&RIer e

C)egfeFeraiss D)ATSCIhIfesar

Answer Key : C

Question No. 96
The study of interactions among living organisms and between the living organisms and its physical
environment, is termed as-
A)Paleontology B)Marinology
C)Ecology D)Pharology

g regaaT & Sfaa shal & i 3k hifag Shat 3R 35 6ifaes w@Eer & S TRt F seaaa

Fh gl SATdT g7
INIERGEEI SENGIEIS
C)gehieliol D)ol

Answer Key : C

Question No. 97

Changes in physical, chemical or biological characteristics of air, land, water or soil are known as- Top
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A)Transformation B)Pollution

C)Malignancy D)Metamorphosis

gar, {fA, gl @ A & sHifas, vafas ar dfdw [AvanEt & oRads @@t F T FH FA4T
ST 1

A)FHIITAIOT B)gyor

C)Aferaad=gr D)FCTHRBITAT

Answer Key : B

Question No. 98
With the intent of protection and improvement of the environment, which of the following Acts was
passed by the Government of India in 19867
A)Environment Protection Act B)Safety of Air Act
C)Land and Sea Purity Act D)Marine Purity Act

qAEROT AT FRET AN GUR & ¢ @ R WHR 7 1986 & fAeafai@d & & sla-ar af@fags aiRa
fohar ar?

A)gdtaRer eetor Jifafaae B)arg gem faferas
C)sfA IR aPR Ygdr Iffaga D)FAgT Ygar Afafras

Answer Key : A

Question No. 99

Sulphur dioxide and nitrogen oxide, resulting from burning of fossil fuels, are major contributors to-

A)Acid rain B)Alkaline rain

C)Neutral rain D)Both alkaline and neutral rain

Sared $UT & STolad ¥ 3cUeol gl dlel ol sIs3iaass 3R A 3iFass, # yag
ATl &

A)3TFeT auT B)&TRr gt

C)3erdleT asf D)at{rar 3R Jardier auf, giar

Answer Key : A

Question No. 100
The term biosphere generally indicates the parts of Earth where-
A)No life exists B)Life exists

C)Sunlight is not available D)Sunlight is abundant

Shassa e HACR W qedt & 37 Reat & 3@ war § @1

A)FIE Sliaer 3ifedca & 6T g &1 B)sfa=l 3ifecca # g &1

C)qT &I JhIer 3Uclst &l Bicl Bl D)FF T Fehrel TEX AT H 3UcTet gleT ¢
Answer Key : B

Question No. 101
An ecosystem's ability to self-regulate and maintain its equilibrium in spite of disturbances is termed as-
A)Non-fluctuating B)Homeostasis
C)Super equilibrium D)High stability

Top
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ol aTRTEATAhr &7 &I IS8T & drasle FO-AATAT AR Ao a0 @A A aHAT A Fel
ST 2

A)3aR-TeE Ied B)wAIRYfa (gifFacfaw)

C)FR Feerel D)3Ta T&eRdr

Answer Key : B

Question No. 102
The expansion of GPP of an ecosystem is-
A)Gross Primary Productivity B)Generated Primary Provident
C)Gross Principal Passability D)General Primary Practicality

T gIRTEATAHT T & GPP &1 [{Far +ar g2
A)atg gisadr disfaefads B)SsRes USRI Widse
C)ata Ffauer dafaferer D)SieiRel IISHAL Ufarcehfoier

Answer Key : A

Question No. 103
The percentage of photosynthetically active radiation (PAR) out of the total incident solar radiation is
close to roughly-

A)50% B)100%

C)20% D)90%

Fel 3Mafad AR RAfHETOT # I goer @eelvs & & @fhg @07 (PAR) T gfderd oeTsyer F
A9 2

A)50% B)100%

C)20% D)90%

Answer Key : A

Question No. 104

Maize plants are infected at different stages of growth by stalk rot disease caused by-

A)Erwinia chrysanthemi pv.zeae B)Xanthomonas citri

C)Clavibacter xyli D)Pseudomonas solanacearum

AFd & i QT & Qe o & % FHROT glad dTell 56 ST U  HhiAd gid ol
Agfafaar frade A s (pv.zeae) B)duA=w &

C)FolTdadel SSelr D) &SI HIATE HelT iR

Answer Key : A

Question No. 105
Fungi belonging to order Sphaeropsidales produce conidia in-
A)Escherichia coli B)Yersinia pestis
C)Pycnidium D)Salmonella typhimurium

ST FERICHSH @ Gafd sas g F A=A der i &7

A)gerifRaT et B)Af{ar uftew
C)ursiestisas D)aTeAIe T8 g Rad
Answer Key : C

Question No. 106 Top
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Which of the following is an example of a total stem parasite?
A)Cuscuta B)Striga
C)Orobanche D)Loranthus

fFFfaf@d # @ Sla-ar dqol Tar GwEhd w1 Uh 3aTET 872

A)FEETT B)fegam
C)3TRar D)dR=a"

Answer Key : A

Question No. 107
In seedlings, leaves dry out and wilt due to a syndrome known as-
A)Kresek B)Necrosis
C)Blight D)Die-back

3P &, gfcaal w g & FROT @ AIS STl 8, 3§ F47 Fgd 82
A)FHdH B)aishIfad
C)ease D)sTg-Sh
Answer Key : A

Question No. 108
The algae growing attached to stones and rocky surfaces are called-
A)Epiphytes B)Lithophytes
C)Halophytes D)Endophytes

IR U9 FEreT Hdgl W RAge #T 397 gtk ddrer H FAT FHgr AT 82
A)TTOwTSCH B)ferdiwisca
C)garpIsTH D)usihrsed

Answer Key : B
Question No. 109
is the symbiotic association between the roots of higher plants and fungi.

A)Mycorrhiza B)Pediococcus

C)Lactobacillus D)Acinetobacter

3Tg giul &Y s1Et 3R wae & g ggsidr Fae gar g
A)HATSHRISST B)ufsairiene
C)olereiafera D)vfasicisaex

Answer Key : A

Question No. 110
In which stem is the vascular tissue arranged into bundles of xylem and phloem that are scattered
throughout the ground tissue?

A)Monocot B)Dicot

C)Both dicot and monocot D)None of the options

fFe aa # dagslt Ids sar AR FAlTA & sl A gaffyd giar § o R FAN Fas 7 @R g €2
A)TEheTSTaST B)gfaserasr

CleRderT 3K TewderTdr At D)fed # & A G Top
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GET IT ON
Google Play

Question No. 111

The plants commonly called vascular cryptogams are-

A)Bryophytes
C)Algae

B)Pteridophytes
D)Angiosperms

AR W Hagar ekt fg e are i aar gia 82
A)STTHTSTH

C)arer

Answer Key : B

B)<REwrse
D)3 st

Question No. 112

are small haploid spores that develop into male gametophytes.

A)Megaspores B)Microspores

C)Endospore

D)Zygospore

I I STy g & St o mseE  Refa aa ¥

A)FITEIE
C)UErEaR

Answer Key : B

B) ATSshIEA
D)ST8aMEaR

Question No. 113

Out of megaspore tetrad, the functional megaspore is-

A)Any megaspore B)Middle megaspore

C)Micropylar megaspore D)Chalazal megaspore

AIMEIR eers 7 A, FAcAs AMMEIR HiA-a1 &2
A)FIS HIMEIR B)FET FIMEAR
C)ASHIUTSR HIMFGR D)aTeTsTel (Chalazal) FmEaR

Answer Key : D

Question No. 114

Major food crops of the world belong to the family-

A)Gramineae B)Cruciferae
C)Leguminosae D)Solanaceae
faea i wogw weg wud fFa o @ wefta §2

INCIGIGE SEGIETY
C)elagfa=a D)ared

Answer Key : A

Question No. 115

is found on the covering of seeds, leaves, or fruits due to which cotton cloth is made from

seed hairs covering the surface of cotton seeds.

A)Hard

fibre

C)Soft fibre

B)Surface fibre
D)Both hard and soft fibres

Top
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Google Play

fier, gfcaar a1 war F MEOT W AT IATAT & [S8F FRUT HIH F diell HI Tdg Hl Thel
ard IS & STl @ Fell HUST SI1:1 AT gl
A)FHSIX 32T B)@der e

C)Haa e D)#oR AR HeIrFd M kAt
Answer Key : B

Question No. 116
Quinine is a drug obtained from the bark of which of the following plants?
A)Adhatoda B)Crocus
C)Cinchona D)None of the options

fFafae (Quinine) fAFifaf@a # @ fFa 9 & oTa & 9§ ST arelr gar g7
IVEIGIE] B)shid
C)a=ar D)fdsedl & ¥ FIS L

Answer Key : C

Question No. 117
Corn oil comprises a relatively high level of-
A)Sulfuric acid B)Citric acid
C)Acetic acid D)Linoleic acid

AFF & dd # I0eTHd rAET 3TT TR AT 82

A)THIRE 3Fel B)fafesw 3rar
C)udifes 3o DCEICIGERREC]

Answer Key : D

Question No. 118

Which of the following plants belongs to the family Malvaceae, also called Deccan hemp and Java jute?

A)Hibiscus cannabinus B)Cannabis sativa

C)Linum usitatissimum D)Crotalaria juncea

fArfaf@a & @ Sl @ dler AT $o @ T §, T SFha g7 3R Srar S[e o Fer Srar g2

A)RfeTRa Sarfaaa B)dettfae dfear
C)elgid iferiefaads D)shIcenTiaT Sifaar
Answer Key : A

Question No. 119

The first bio-insecticide developed on a commercial scale was-

A)Organophosphates B)Quinine
C)DDT D)Sporeine
ITARAF TR W [aafAd ggar a-hearas &l ar?

A) AfATmrehed B)fFafeer
C)DDT D)¥aeT

Answer Key : D

Question No. 120
Kava is a drug made from the ground roots of the plant-
A)Piper methysticum B)Nicotiana tabacum

Top
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C)Papaver somniferum D)Cannabis sativa

Frar ka9l fr AT BT T T v 3R g2
A)usR AfRAEcHA B)frepifearar Eeee
C)arIraR |ifFAhid D)&arfaw dfear

Answer Key : A

Question No. 121
Which is a strong, dark beer, usually made in winter from the new malt and hops?
A)Bock beer B)Ale beer
C)Lager beer D)Porter beer

e A Aored, T @1 A I §, S 3HER W AféAT 7 Av Aree 3R gicw @ 918 Sl 82
INEICRCE R B)tar faR
C)ePR T8I D)4 &R

Answer Key : A

Question No. 122
Which tree gives out the latex to obtain natural rubber?
A)Eucalyptus B)Hevea brasiliensis
C)Anogeissus D)Astragalus

@i AT 95 WIhfdeh TR 9 & AT dedq aar 872
A)Thferced B)gfaar sifafaci-ad

C)uarsiEd D)wegrerd

Answer Key : B

Question No. 123
is the process of planting a large number of trees for increasing forest cover.
A)Afforestation B)Agroforestry
C)Deforestation D)Social forestry

gel 3MROT dgl & fow 937 F&ar & 93 o fr ufekar g1
A)TeATehoT B)Eljﬁr arfareht
C)aalleaelet DyarATSe arfashr
Answer Key : A
Question No. 124
The oldest known agroforestry system is-
A)Satellite farming B)Precision farming

C)Hydroponics D)Shifting cultivation

IR Wl AT Fi¥-arfrehr gomelr (TR feesn) sia-dr g2
A)3TTE Wdr B)aRerg @l
C)erssifasy D) eIl SIS

Answer Key : D

Question No. 125 Top

The large-scale cutting down of forest trees is called-
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A)Afforestation B)Agroforestry
C)Deforestation D)Social forestry
ST & Ug Y 98 YA W Fers Fi FgT ST Bl
A)TeiTehoT B)& ¥ arferdhr
C)aslleaeleT DyarATGe arfaehr

Answer Key : C
Question No. 126
What is the full form of NAEB?
A)National Afforestation and Ecology Board B)National Afforestation and Eco-development Board
C)National Agro-forestry and Eco-development Board D)National Afforestation Programme

NAEB &1 9ol &9 &1 72
A)ARTAT TFPRECAT US Sehleliol dIs B)AAT FHRICAA US SHhI-3dalude aIs
C)ATe TIM-BRELT US ShI-3daldAc a5 D)=ieleTel 3TFHRECT T

Answer Key : B

Question No. 127
Who defined social forestry as forestry that aims at producing flow of protection and recreation benefits
to the community?
A)Westoby B)Brandis
C)Sunderlal Bahuguna D)SIDA

fhaa GrAToeh arfachr @ Ol arfadhl & ®9 & GRANA fhar § 9@ 3229 ¥He & fav @ 3Rk
ARG el A3 &F TdIg BN 3cUeel el 67
A)IErET B)sifsa
C)geelTel Sga[om D)SIDA
Answer Key : A
Question No. 128

Teak is a tropical hardwood tree species in the family-

A)Lamiaceae B)Fabaceae

C)Rutaceae D)None of the options

FraitaT (&) Tl (family) & v IURRANT T hs & Us A YT &
A)faTTEr B) weret

C)weaT D)fasedt & ¥ FIS L

Answer Key : A

Question No. 129
Water from the cell wall enters into the root hair through the-
A)Nucleus B)Vacuole
C)Plasma membrane D)Mitochondrion

FIRIHT Ffed @ STor fhah @ oI5 & W H gAA HIAT 872
INGUEES B)T&emeAr
C)carsaT el D)HATSe i fog et Top
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Answer Key : C

Question No. 130

When a cell is placed in pure water, the water enters into the cell as a result of deficit of cell
sap.

A)Diffusion pressure B)Turgor pressure

C)Osmotic pressure D)Both turgor and osmotic pressure

SId Ush HIRAST T Yg et H @ ST g, ar HifAwr @ dr Sl & IROTHATIRY Ulell HITRIAT
# Y & AT gl

A)faERoT gera B)¥hifa gara

C)RrERel garg D)Ehifad 3R wrERel gaE grar

Answer Key : A

Question No. 131
The most abundant element found in plants is-
A)Manganese B)Carbon
C)Nitrogen D)lron

dlel & gaife ggv AT A 91T S arer ded Sle-ar 87
A)Haretrer B)&IesT
C)aTggrsiat D)irgr

Answer Key : B
Question No. 132
Minerals known to be required in large amounts for plant growth include-

A)Phosphorus, potassium, sulphur, calcium B)Selenium, magnesium, boron, copper
C)Potassium, phosphorus, selenium, boron D)Magnesium, selenium, iron, zinc

dlul @1 gig & T a3 AET & 3ETS A S e @ivelt # 241 aifAd §?
A)BIERRY, TfRITH, Tow, hiorraHd B)@ofras, e, SRieT, diem
C)urefR#H, BrEwRy, dafags, aRid D)#TNRT#, defags, o, sear

Answer Key : A

Question No. 133
Name the fungus that helps in No-fixation.
A)Rhizopus B)Albugo
C)Puccinia D)Pullularia

3" Hde &I A7 Id13T St No-fhFaea & HAcg Hear gl

A)TSSIaH B)3tegan
C)ashenferar D)gefeiRar

Answer Key : D

Question No. 134
The first acceptor of electrons from an excited chlorophyll molecule of photosystem-Il is-
A)Cytochrome B)Iron-sulphur protein

C)Ferredoxin D)Plastoquinone
Top
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BIEITAECH-Il & Icdfad FARIe U] & FAaclal I Tgoll Fdlchdl hiel §7?
A)TTSTIRIA B)elle-Tewt 91éeT
C)hsiierde D)cerEe fFaala

Answer Key : D

Question No. 135
In Cs-plants, the first stable product of photosynthesis during the dark reaction is-
A)Malic acid B)Oxaloacetic acid
C)3-phosphoglyceric acid D)Phosphoglyceraldehyde

Cs-ulell &, 37uaiieh ATHAT & GRIT Tehrer TANT &7 ggar U 3cdig 41 g2

A)#fos tias B)3fFareitiafes ufas
C)3-BhlEhT e Tiig D) B! T eRITesgTss

Answer Key : C

Question No. 136

The energy releasing metabolic process in which the substrate is oxidised without an external acceptor

is called-

A)Glycolysis B)Fermentation

C)Aerobic respiration D)Photorespiration

Sl AFd & dlell IATAT Gfhar fGad Fewee @t Al Twdr & Qe sifedeor fRar S §, F
Hgolldl 872

A)TcTgHiensiad B)fhuast

C)Wifs® ea@eT D)®reRfEaeret

Answer Key : B

Question No. 137
During the photochemical reaction of photosynthesis-
A)Only liberation of O,takes place B)Only formation of ATP and NADPH, takes place
C)Liberation of O, and formation of ATP and D)Assimilation of CO, takes place
NADPH, take place

1A TWVOT I RS JRfRar & ghra-
A)dhael O, T HiFd gl & B)&aer ATP 31k NADPH, & fa&Tor grar &1
C)O, @1 Hied dar ATP 3R NADPH, & &1 glar D)CO, &I 3ideidel (Assimilation) gl &

gl

Answer Key : C

Question No. 138
The source of ATP for symbiotic nitrogen fixation in root nodules is-
A)Ferredoxin B)Pyruvate
C)Malate D)Hydrogenase

&¢ Alsged H Hgolldl ATselole 0T & faw ATP &1 did 41 872
INETEIER: G B)dIs®dT
C)Hare BDHESEDE]

Answer Key : B Top


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda247

Question No. 139
The first stable product of the Calvin cycle is-
A)3-phosphoglycerate B)1, 3 biphosphoglycerate
C)Ribulose - 5- phosphate D)Glyceraldehyde - 3 phosphate

hfede T & Jgal A 3¢9 4T 872
A)3-BIERIFREIRE B)1, 3 SISHITHITARIT
C)RTellel - 5- BIEhe D)Fererifesgss - 3 wiethe
Answer Key : A
Question No. 140
In protein synthesis, translocation is initiated with the movement of-
A)tRNA from P-site to the A-site B)Dipeptidyl tRNA from A-site to the P-site
C)tRNA from A-site to the P-site D)tRNA from P-site to the E-site

el a1fd @ W HRAYT H TUTAT=eROT YT Bler 872
A)P-aTsc ¥ A-F1ST oo tRNA B)A-@Tlsc ¥ P-A1Sc % ssuftessd tRNA
C)A-TTsT & P-Asc d& tRNA D)P-@rsc & E-Asec d& tRNA
Answer Key : B
Question No. 141

When the cofactor and the protein part of the enzyme are present, the entire active complex is-

A)Cofactor B)Holoenzyme

C)Apoenzyme D)Catalyst

ST USSA & GgaRa 3R N d0T Al giar &, df 99T afha slecaead gicT g1
A)TEFREH HEEIGTIED

C)udIvasH D)3RH

Answer Key : B

Question No. 142

What are anthocyanins?

A)Pigment B)Alkaloid
C)Drug D)Toxin
TUrEfAT Far g2

A)aaee B)UchdllUs
C)zar D)ciforast

Answer Key : A

Question No. 143
The aestivation found in calotropis is-
A)Valvate B)Vexillary
C)Imbricate D)Both vexillary and imbricate

FATH A 9T A dTeT TEEQLAA FIAT g2
A)arede B)afaraerr
C)sfEsme D) AR AR sEre At Top
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Answer Key : A

Question No. 144
Which of the following pigments is involved in red-far red light interconversion?
A)Cytochrome B)Lycopene
C)Phytochrome D)Xanthophyll

oITel-ge olel THeE & idaRe IRads # g8 & Hid @ {F1ged (pigments) AR §2
A)FTSCThIA B)argehidiat
C)wrseishIA D)stenfther

Answer Key : C

Question No. 145
The seed coat ruptures during seed germination due to-
A)Water consumption B)Cotyledon differentiation
C)An increase in cell division that occurs suddenly D)Cotyledons and endosperm undergoing extensive
glycolysis

fhash HROT st & IFXOT & GRIT st FT MEROT FedT 82

AU Fr @ud B)deray fasie

C)aIferehT faermsieT 7 3reeieh gig gt D)sISTT 3R ST & AYeh TASHIS AT H IR
Answer Key : A

Question No. 146
Phytochrome is a photosensitive pigment involved in-
A)Geotropism B)Phototropism
C)Photoperiodism D)Photorespiration

FrEcihd fha & AT T Threr Hacafia Tged 87
A St B)wleie e
C)wrenRafesa D)®reRfEaRereT

Answer Key : C

Question No. 147

The enzyme can help barley seeds germinate.
A)lnvertase B)Lipase
C)Protease D)Amylase
St & et 3R wa & USTSH U ardr &1
A)gracs SEIEEE]
C)Irst D)THATS

Answer Key : D

Question No. 148
Which of the following is an example of epigeal germination?
A)Maize B)Castor
C)Rice D)Both maize and rice

Top
TS Y07 T 3ETeR0T 48 & el AT 82
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A)HFHT B)3REr (Castor)
C)arad D)aAaRT 3R arad gl
Answer Key : B

Question No. 149
The type of germination based on the elongation of epicotyls and hypocotyls is-
A)Epigeal germination only B)Hypogeal germination only
C)Both epigeal and hypogeal germination D)Neither epigeal nor hypogeal germination

tFIfeed 3R gEURited & dea & MUR W HFIOT T JHR FAT §72
A)hder Tioshier 3ighor B)shael gIguIfararer 3T
C)udsher AR grsdfarrer 3T QX D)t a vdisher 3R & & grswfrae sigor

Answer Key : C

Question No. 150

including fertilizers, pesticides, and herbicides play a vibrant role in improving plant growth.

A)Enzymes B)Agrochemicals

C)Phytochromes D)AII of the options

gl & g #F GUR H A 3R, Hreaers AR amwareh afga & Sfida fasr gt 2
A)TSTTSHT B)FRr it

C)®IselIshlEa D)fashedr 7 & el

Answer Key : B

Top
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